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Instructions: There are total four questions. * Answer all sub questions in continuation. *
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Multiple choice guestions.

Which one of the following is having a heterocyst?

(a) Ectocarpus (b} Chlamydomonas {¢) Nostoc (d) Vaucheria
Cup shaped chloroplast seen in this

{a) Nostoc {b) Chlamydomonas {c) Albugo (d) Lichen
Unilocular sporangium is present in this

{a) Ectocarpus {b) Nostoc (c) Vaucheria (d) Chlamydomonas
Conidia is what kind of structure?

(2} sexual spore (b) sexual gamete (c) asexual spore {d) none of these
Kingdom of fungi is

(2} plante (b) Mycota {c) phytopthora {d} comycota

Which one is edible fungi?

(a) Mushroom (b} Alternaria {c} Albugo (d) Chara

Asexual reproductive structure-Soredium is found in

(a) Mycorrhiza (b} Lichen (¢} Mushroom {d} Albugo
Mycorrhiza association is found in

(a) Polysiphonia (b} Pinus {c} Alternaria (d} Nostoc

Alternaria soleni is causal organism for which disease?

[10]

{a) white rust of crucifer {b) Early blight of potato (c) Citrus canker {d) red rot of sugarcane

Citrus canker disease found on this plant
{a) Lemon (b) Cotton (c) Pappaiya (d} Potato
Answer as stated. {True or False?)
Chara is an alga. (True or False?)
Synchitrium is not a fungus. {True or False?)
Some mushroom can grow on tree bark. (True or False?)
Leaf curl of papaya is caused by virus. {True or False?)
_____is branched and unicelular alga. {Polysiphonia, Vaucheria)
Basidiospores are produced in ____ . {Alga, fungus)
is an example of Fruticose lichen. (Usnea, Chara)

Cotton plant is affected by . (Fusarium, Albugo)

[08]

See page 2- overleaf

(P-Te)




Q:3

Q:4

{01)
{02)
(03}
(04)
(05)
(06)
(07)
(08)
(09)
{10)
(11)
{12)

(01)
{02)
{03}
(04)
(05)
{06}
{o7)

(08)

Write answer in one or two sentence only. (Any ten) [20]
Write name of any two renowned phycologist of India?

Explain the structure of Nostoc colony,

Give one example of Chlorophyceae and Xanthophyceae each.

Write names of two medicinally important fungi.

Write the family of Synchitrium and Albugo.

Sketch and labeled diagram showing morphology of Agaricus mushroom,

On which materials Aspergiljus grows?

Write only names of different kinds of Lichen,

What is Ecto-mycorrhiza?

Discuss the symptoms: Chlorosis and Dumping off,

Write causal organism of Tikka disease of Ground nut and Citrus canker disease.

Write control mechanism for White rust of crucifer,

Describe, {Any four) [32]
Explain the asexual reproduction in Vaucheria.

Discuss-any two economic importance of Algae.

Sexual reproduction in Phytopthora.

Discuss the cultivation process of Mushroom,

Explain different kinds of mycorrhiza.

Distuss the internal thailus structure of Lichen,

What is the causal organism of plant disease ‘Red rot of Sugarcane’? Write the symptoms and
control measures.

Briefly describe about Little leaf brinjal disease
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